F27RETESAAVXDYT I vh—KE
20184FE ¥ (FERLSOFE) REI4F A KRS

PR 18.11.7
2018512 A 15 A B
fi| AB |2peug) IR [NO #7717 S 4 #i| AR |sgeam)|R NOFT ES i Eind)
naoa|XExn 1| 1| 990\ gtmm 0 0 XEx| & ER 12888 | shmA | ] 9:30
() |(xB)| 2| 2100 zmm 2 0 EE |stzm AEL (1) |@tmm)| 2| 30/1000/5 ax | 0 sy Z)I BH
3| 3|10:30 #@ o 3 XEL| EE xmem 3| 31110:30) =m 1 7 mtEmlios—s BLER
4 4110\ gsmy 7 0 EE |[KE: &M 4] 32/11:00| .., 0 8 war—s| BE mtwm
5 |11:30 5[ [11:30
6| |1200 6| 33|1200| xzzm 1 1 sasyy|mrex ZI
7| |1z30 7| 34|12:30| 19 7 0 2 |xmEE sory
8 |1300 8| 351300\ 5 1% 6 saouyy|mm ZI|
o [1330 4 of [13:30
1 10] 1400 10] 361400/ g +zx 8 0 Z |peswy AEL
dein | 119800 g o 3 sy ETE 2M shas | 1] 87) 930 &g o 10 mtim KEtT xzzm
G | 2] 21000l 2m 5 - 1 FIR| ZII s () | 2381000 R 0 - 1 BB EM srewm
3| 8|1030)50,0,, 0 6 Z)I| B =R 3| |1030
4l 41100z e 2 2 yanss|zanyy E)I 4| 39|11:00| 32w 3 0 Bt EE B
S |101m+4 o 0 EN |pns—s mimm S| 40[11:30 &y 1 | EE |xszm 518
6| |12:00 6| 41/12:00| xz+ 3 | s B =E
7| [12:30 7| [12:30
8| [1300 8| 42|13:00( s mam 0 3 KEtloss B
o [1330 of [13:30
10| |14:00 10| [14:00
ngwea| B | 1] 10 980|g ey 4 0 B |xzem ZI 12a158| SiA | 1) 43] 930)gimy o 1 mtem| EE E+iR
(A) |kmmm| 2| 111000 g5 o 3 sy BM mreEm (1) | (BE) | 2441000 xz+ 3 0 Jnsiwy|EtiEm BLER
3 12110:30) =g 3 0 BM s BE 3| 45[10:30|xgam 0 4 mrmmKEL sory
4] 13|11:00| gy gy 1 0 xmzm| B &M st 4146|1100z gy 2 0 EtiR|x=zm stmm
S| 1411130 & o 2 Z) |xuEm wrEn 13:30 5| 4711130 =2m 0 5 xemem|stEx BB
6] 15/1200/ s gmm 2 2 oss| B Z)I FE 6| |12:00
71611230\ gymm 7 1 B |xEEE s 7l [12:30
2 8| 17]13:00| xgmm 1 0 2l |zrex BME 8| 481300 R o 1 sanw|KET xees
L8 | 1] 18] 930\t 1 8 mrm|zar.y KEL s | 1149 930 2@ 3 0 EBE |puss Hif
wogLe| 2 10:00 (2m) | 2| 501000 #am 5 was—s| Z)l | BE
3| 1911030 x &+ 6 1 mtim|sosy E1E 35111030 =R 1 1 ZN | BA sery
4| |11:00 4l [11:00
5/ 20[11:30|gtigm 6 - 0 vasioy|KEL Bt 5| 921130 x5+ 6 - 0 ZJI|EE s
6| 2111200/ kg + 11 B8] mtm vasy 6| 93/1200) g 2 1 sarsy|KEE 2l
7 12:30 71541230 = 2 6 yans—v|zasiey ER
8| [1300 8| 55/13:00| mg 1 | mtE BE s
ngzsa| BEN | 1] 22| 930 xmam 1 0 & |ELR voswy 1 9:30
@ | cem | 2231000 @E 5 - 1 sasfxzem B 2 |1005
3 241030l mE 0 - 12 mtiE|oasy BE 3| |10:40
4 25/11:00) =g ¢ 9 XEt| EE =t&m 4l |18
5| 26/11:30| g 148 | 1 woss| BE AEL 5[ [11:50
6| 2711200| = 0 - 13 AB|ELHR s<usv 6| |[1225
7] 28]1230| g 448 2 1 sesy| BE KBt 7| |13:00
3 8) 29/13:00) =g 0 Z) |ror.y B 8 1335
11| 930 1 | 930
2| |1000 2| [1005
3| [1030 3| [10:40
4| |11:00 a4l [11:15
5 |11:30 5[ [11:50
6| [12:00 6| [12:25
7| [12:30 7| [13.00
8| [1300 8| [13:35

RKEF—LEHOEREEL, FLARBYUBLLLLERBER~ A TETIRSABREE 1 LGoTHE,




